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QUESTION 1

You are designing a solution for a customer who wants to optimize network performance for their iSCSI environment of
20 Microsoft SQL servers on their Hitachi NAS Platform. Which three actions do you suggest to the customer? (Choose
three.) 

A. Create a private VLAN between the Microsoft SQL server and the Hitachi NAS Platform. 

B. Create a LAG on the Hitachi NAS platform using all available interfaces. 

C. Use the latest open source iSCSI initiator in the Microsoft SQL server. 

D. Use the spanning tree protocol. 

E. Add multiple network interfaces to their Microsoft SQL server and use MPIO. 

Correct Answer: ABE 

 

 

QUESTION 2

A customer is using CVL on their Hitachi NAS platform. When a migrated file is accessed, how does a tier of storage
serve a file to a client? 

A. Only the portion of the file requested by the client is recalled from the primary tier of storage 

B. The entire file requested by the client is recalled to the primary tier of storage. 

C. The file requested by the client is read directly from the second tier of storage. 

D. The file requested by the client is recalled from the snapshot area of the file system. 

Correct Answer: C 

 

 

QUESTION 3

A customer is planning to deploy Hitachi Object Replication on their existing Hitachi NAS Platform 4000. 

They want to replicate only two of their WFS-1 file systems. 

Which statement is correct? 

A. Object replication must be setup using the GUI. 

B. Object replication is supported at the block level only. 

C. Object replication is not supported for this type of file system. 

Latest HCE-3210 Dumps | HCE-3210 PDF Dumps | HCE-3210 Exam Questions                                2 / 3

https://www.geekcert.com/hce-3210.html
https://www.geekcert.com/hce-3210.html
https://www.geekcert.com/hce-3210.html


https://www.geekcert.com/hce-3210.html
2024 Latest geekcert HCE-3210 PDF and VCE dumps Download

D. Object replication is supported on the storage pool level only. 

Correct Answer: C 

 

 

QUESTION 4

A customer with a Hitachi NAS Platform 3200 (source) would like to relocate all the data to a new Hitachi NAS Platform
4000 (destination) using Incremental File Replication with Transfer Primary Access (TPA). Which two are required
before the data migration can take place? (Choose two.) 

A. The source and destination firmware levels of the HNAS systems must be compatible for replication. 

B. The external SMU must manage the source and destination nodes. 

C. The source and destination nodes must be connected to different storage systems. 

D. The clients of the source and destination nodes must have write access to the snapshots before and after the
replication. 

Correct Answer: AB 

 

 

QUESTION 5

You are designing a solution to replace a customer\\'s existing NetApp FAS3140. The customer uses Snapshot and
SnapMirrorto provide local snapshots and DR protection. They perform a daily snapshot which is retained for 30 days
and they execute SnapMirror on a 15 minute interval. In the event of a failover to the DR site, all the locally executed
snapshots are available for use on the DR system. How should you configure snapshot rules with replication to provide
equivalent capabilities? 

A. on the source system that is by the object replication policy 

B. on the source and target systems using two different object replication policies, one of which both snapshot rules 

C. on the target system only by the object replication policy 

D. on the source and target systems using a single object replication policy 

Correct Answer: B 
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